STHNEEESERBEREARE=2) VIRE

EHES  18-12—

ERBEaE NMNHAEER
EHE - B - RE| HEBE - ZEERE
L BzE
ZEEH 0E

FEERS
FHIER
FHER
B oo




BEERRE SHTEEESEBREREAREE AT RE

% g g - BKTE Bifr B 2 i & 8 m =

EEHEE 29,016, 096
HlE - RAEFEH 3,393, 287
HlE - RAEFEH 3,393, 287
REEE 256, 590
REEE 256, 590
1 AEERE 1.00 256, 590 256, 590

=
EEEYRE 291, 600
EERE 291, 600
2 EHHIHE 1.00 107, 300 107, 300

]
3 RS 1.00 107, 300 107, 300

]
4 ZIR|E 1.00 71,000 77,000

]
FiERA=E 2,845,097
FiERA=E 2,845,097
5 BEMER QEERY) 1.00 88, 901 88, 901

=
6 BETRF 1.00 257, 439 257,439

=
1 EEAFE (Eih) 74.10 12,740 944,034

km

8 WMEEIER 1.00 1,554,723 1,554,723

=
KFRBREEH 25,622, 809




BEERRE SHTEEESEBREREAREE AT RE

£ b R - KT iE B H 2 B * H =

KERBHE 25,622, 809

KERE 4,663, 400

KERE 4,663, 400

9 KEAE (E=HV YD) 48.00 30, 397 1,459, 056
e

10 KEHFHE FBIZRAE) 88. 00 36,413 3,204, 344
e

EHRE 1,817, 207

EBHREN) . EXEEWRE 1,306, 368

1 ]RE (REHAEN). EEXEEYRAE) TI/IUN—CRES (RILET D) 96. 00 13, 608 1,306, 368
e

EHHAE (2) 510, 839

12 #E (EBHE (2)) 7.00 72,977 510, 839
e

BNERE 2,365,516

BNERE 2,365,516

13 ANEHAEHHERER (ERHE) KR 40. 00 39,190 1,567, 600
e

14 AN ERAESAHEBERER (EHH8) 12.00 66, 493 797,916
e

EB ST 179, 670

EE T 179,670

15 e (EBEHH) (AERE. £ THOTUN—CRES (RILET D) 2.00 52,212 104, 424
X) e

16 e (EBEHH) (PRMABMER) ITI/IUNA—CRES (RILET D) 2.00 37,623 75, 246
e




BERRE

SHTEEMSBREREARE=SL T HE

% L] R - RARSTiE BfL g fif ® # ]
Rt 480, 220
FHrE Rk 480, 220
17 HEHk 1.00 480, 220 480, 220
=
SR 8, 965, 600
SR 8, 965, 600
18 S TadER 1.00 8, 965, 600 8,965, 600
=
KERE (GEEGEE) 1, 806, 987
KERE (GEEGEE) 1, 806, 987
19 HATER GERERD 1.00 93, 867 93, 867
=
20 FRiE CEiEA) 2.00 194,210 388, 420
Hh R
21 mfR GE#EAD 2.00 152, 740 305, 480
Hh R
22 #E GEEGEHAD 2.00 194,210 388, 420
Hh R
23 HmiEM GERGERD 2.00 315, 400 630, 800
=
SEBAERMER 267,902
SEBAERMER 267,902
24 SREABERMER 1.00 267, 902 267, 902
=
R Bl 30 198, 566
R Bl 30 198, 566




BEERRE SHTEEESEBREREAREE AT RE

% [ R - RARSTiE BfL % 8 B ® # m =

25 RSEAEREE 1.00 198, 566 198, 566
=

HEEEM 4,011, 850

HEEEN 4,011, 850

26 MES/ER CKBERAZ (E=2Y VY (E=42UVY 1.00 796, 475 796, 475
HE)) -

2] HESER (EERE) EEHE (1) @ 1.00 906, 192 906, 192
=

28 MEEEH (EEDH) EB S 1.00 209, 746 209, 746
=

29 HEEEHK (ZDHFE) KEGELR), EXEY, AN E 1.00 1,381,074 1,381,074
=

30 FRERMEMT CGEHERD 4.00 90, 168 360, 672
]

31 MEFBERL GERRERAD 1.00 357, 691 357, 691
=

E#EEE 865, 891

TEERM 685, 891

32 REBERM 1.00 685, 891 685, 891
=

EBHRREM 180, 000

33 EHBHER 1.00 180, 000 180, 000
=




SHTEEMSBREREARE=SL T HE

% g R - KSR Bifr 2 il & B 18
EENEE 24,537,778
HRE 15,572,178 x 71.8% — 8,601 11,172,222
AEEEE 24,537,778 + 11,172,222 35,710, 000
BRI 4,423,680 + 54,638 4,478,318
EEAGE 4,423,680
EERE 54, 638
T DR 4,423,680 x 53.85% ( 35% + (1 — 35%) ) 2,382,151
BRI 4,478,318 + 2,382, 151 6, 860, 469
—REEES 6,860,469 x 53.85% ( 35% = (1 — 35%) ) — 4,831 3,689, 531
AEHEE 6,860, 469 + 3,689, 531 10, 550, 000
BB E TS 35,710,000 + 10, 550, 000 46, 260, 000
HETR SR L 46,260,000 x 10.00% 4,626, 000
BEXHE 46, 260, 000 + 4, 626, 000 50, 886, 000




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 1
& RAEERE 1LY
2 b g - BIRTE By = it ® # " =
BIEFEHEM
A 1.50 60, 600. 00 90, 900
RIS HRER
A 2.00 52, 300. 00 104, 600
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 0.50 34, 900. 00 17, 450
MR 2E0%
% 1.00 254, 050. 00 2,540
& B 1YE%HeH - 1.00K 256, 590. 00 256, 590
&5 .2
¥ . BATHE HEED)
2 b g - BIRTE By = it ® # " =
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 0.50 52, 300. 00 26, 150
Bl S H A
A 0.50 41,100. 00 20, 550
& Hi 1YEZHER - 1.00[E 107, 300. 00 107, 300
53
& PRERE HEED)
2 b g - BIRTE By = it ® # " =
BIEFEHEM
A 1.00 60, 600. 00 60, 600
RIS HRER
A 0.50 52, 300. 00 26, 150
Bl S H A
A 0.50 41,100. 00 20, 550
& Hi 1YEZHEH - 1.00[E 107, 300. 00 107, 300




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

Hz5 .4
£ EW|E HEED)
2 b g - BIRTE By = it ® W = " =
BIEFEHEM
A 0.50 60, 600. 00 30, 300
RIS HRER
A 0.50 52, 300. 00 26, 150
Bl S H A
A 0.50 41,100. 00 20, 550
& Hi 1YEZHEH - 1.00[E 71, 000. 00 717,000
F5 .5
£ BEAERR 2FEESY) 14y
2 b g - BIRTE By = it ® W E " =
BIEHEE
A 2.00 28, 700. 00 57, 400
FSvo 2t
B 1.00 30, 621. 00 30, 621/4. 70H / 8H
MR ELNOY
% 1.00 88, 021. 00 880
& B 1E%HeH - 1.00K 88, 901. 00 88, 901




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&S .6
B BETR 1XEY
2 b g - BIRTE By = B 4 ) W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEENF
A 1.00 34, 900. 00 34,900
BIEf FRP D 70PSZE!
B 1.00 86, 494. 00 86, 494 8H
GNSS:AIfI £ & DGNSS
B 1.00 25, 740. 00 25,740
BERIREE 1AM 100kHz
B 1.00 10, 741.50 10, 741
MR 2E0%
% 1.00 254,891. 00 2,548
& B 1E%HeH - 1.00K 257, 439. 00 257,439
5:17
2% BERARE (i) 1B3EY (23.2km)
2 b g - BIRTE By = B 4 ) W E " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEENF
A 2.00 34, 900. 00 69, 800
GNSS:AIfI £ & DGNSS
B 1.00 25, 740. 00 25, 740
BERIREE 1AM 100kHz
B 1.00 10, 741.50 10, 741
MR 2E0%
% 2.00 289, 791. 00 5,795
& B YEZRESN : 23.20km 12, 740. 00 295, 586




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

E5:8
£ MESERK 1XEY
2 b g - BIRTE By = B 4 ) W = " =
BIEFEHEM
A 3.70 60, 600. 00 224,220
RIS HRER
A 12.10 52, 300. 00 632, 830
Bl S H A
A 12.10 41,100. 00 497, 310
BEENF
A 5.30 34, 900. 00 184, 970
MR 2E0%
% 1.00 1, 539, 330. 00 15, 393
& B 1YE%HeH - 1.00K 1, 554, 723. 00 1,554, 723
5.9
&% KERE (E=4YVY) 1834Y (10# =)
2 b g - BIRTE By = B 4 ) W E " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PSZ%! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEENF
A 2.00 34, 900. 00 69, 800
MR £ NOY)
% 20.00 253, 310. 00 50, 662
& B 1YEZRES - 10. 004 = 30, 397. 00 303,972




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

#5:10
2% KEBE (ETHAZE) 185Y (84)
% # 1A - IR R Bif E g & =@ " = W =
RRE J4 bRV 2L
H 1.00 3,616.00 3,616/2.00H / 8H
FEMm FRP D 70PSZ! 3.0t
H 1.00 86, 494. 00 86, 494 8H
B E M
A 1.00 52, 300. 00 52, 300
AR BT
A 1.00 41,100. 00 41,100
REMF
A 2.00 34, 900. 00 69, 800
HerTR £HD%
% 15. 00 253, 310. 00 37,996
a & YESEES : 8. 003 = 36, 413. 00 291, 306
#5: 1
£ R (EHBE (). BEEMEE) T/TUA—URES (RUEET?) 1H%Y (18.844)
% 7 R - R R B E g & =@ w = W =
RRE F4 b2
H 1.00 3,616.00 3,616/2.00H / 8H
FEMm FRP D 70PS#¢ 3.0t
H 1.00 86, 494. 00 86, 494 8H
B E M
A 1.00 52, 300. 00 52, 300
AR BT
A 1.00 41,100. 00 41,100
REMF
A 2.00 34, 900. 00 69, 800
HerTR £HH0%
% 1.00 253, 310. 00 2,533
a & YESEES : 18. 80 = 13, 608. 00 255, 843




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 :12
&% RiE (RERE (2) ) 184Y (GHR)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BKE(F A1) 10mk 578
A 1.00 52, 700. 00 52, 700
HBKLTHBEE (A4 /\—) 10mk 5%
A 1.00 52, 700. 00 52, 700
rmyg
A 2.00 29, 300. 00 58, 600
MR 2D %
% 5.00 347,510. 00 17,375
& B 1YEZRESN 5. 00K 72,977.00 364, 885
&5 :13
£ ANEREHABER (ERR) ERH\ 1TAHY (8. 1H#hR)
2 b g - BIRTE By = B ® W E " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM #fD 150PSE! 15.0t
B 1.00 144, 401. 00 144, 401 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 2.00 34, 900. 00 69, 800
MR 2E0%
% 2.00 311, 217.00 6, 224
& B 1EXHED : 8. 105 39, 190. 00 317, 441




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&S 14
2% ANEREHMAREBER (ERR) 1BHY (4)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 2.00 34, 900. 00 69, 800
MR i 10)
% 5.00 253, 310. 00 12, 665
& B 1E%HED 4. 0040 66, 493. 00 265, 975
&5 .15
&% RiE (RERX) (AR, E%HK) I/ UN—JRESR (RIZET ) 1BHY (4.9#hH)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 2.00 34, 900. 00 69, 800
MR 2E0%
% 1.00 253, 310. 00 2,533
& B 1EXRED 4. 00K 52,212.00 255, 843




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 .16
& RE (REXH) (hRMEHBE) ITI/TUN—JFRESR (RIZET ) 1BHY (6. 8ih)
£ b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
AEHT
A 2.00 34, 900. 00 69, 800
MR 2E0%
% 1.00 253, 310. 00 2,533
& B 1YEXHES : 6. 80K 37, 623. 00 255, 843
&= .17
&5 . ELERR 1LY
£ b g - BIRTE By = B O ® W = " =
Bl S H A
A 10. 00 41,100. 00 411, 000
REE S4 kY 2L
B 10. 00 6,922. 00 69, 220/6. 00H / 8H
& B 1E%HeH - 1.00K 480, 220. 00 480, 220
&= .18
B oHTEER 1R&=Y
£ b g - BIRTE By = B Ol ® W = " =
SRR
1.00 8, 965, 600. 00 8, 965, 600
& Hi 1E%Heh - 1.00K 8, 965, 600. 00 8, 965, 600




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 :19
%5 . BETER GEGEEAD ®x (1K)
2 b g - BIRTE By = B ® W = " =
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
MR 2D %
% 0.50 93, 400. 00 467
& B 1YE%HeH - 1.00K 93, 867.00 93, 867
&5 :20
&% RiE GEEEAD 1B34Y 2#R)
2 b g - BIRTE By = B ® W E " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 1.00 34, 900. 00 34,900
BKE(F A1) 10mk 578
A 1.00 52, 700. 00 52, 700
HBAKLTHBEE (A4 /\—) 10mk 5%
A 1.00 52, 700. 00 52, 700
rmyg
A 1.00 29, 300. 00 29,300
MR £ NOY)
% 10. 00 353, 110. 00 35, 311
& B 1E%RED : 2. 00K 194, 210. 00 388, 421




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 : 21
& | GEGEAD 1HHY (2.55)
£ 5 L - BIRTiE BT = fili & % = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
B
A 1.00 41,100. 00 41,100
BKE(FA1\—) 10mk 5%
A 1.00 52, 700. 00 52, 700
BKLTHENE (A /3\—) 10mK 78
A 1.00 52, 700. 00 52, 700
rEYE
A 1.00 29, 300. 00 29,300
HEMH EXZOLY)
% 20.00 318, 210. 00 63, 642
& B 1YE%HESH : 2. 505 152, 740. 00 381, 852

10




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 :22
&% HE GEESAD 1B34Y 2#R)
2 b g - BIRTE By = B ® W = " =
REE S4 kY 2L
B 1.00 3,616.00 3,616/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 86, 494. 00 86, 494 8H
RIS HRER
A 1.00 52, 300. 00 52,300
Bl S H A
A 1.00 41,100. 00 41,100
BEBF
A 1.00 34, 900. 00 34,900
BKE(F A1) 10mk 578
A 1.00 52, 700. 00 52, 700
HBKLTHBEE (A4 /\—) 10mk 5%
A 1.00 52, 700. 00 52, 700
rmyg
A 1.00 29, 300. 00 29,300
MR 2D %
% 10. 00 353, 110. 00 35, 311
& B 1EZRED : 2. 00K 194, 210. 00 388, 421
&5 :23
£ HEER GEGEAD 184Y (1F)
2 b g - BIRTE By = B ® W E " =
KB -1EH 1Hh = x 22
B 38.00 2,100. 00 79, 800
AEEE 1Hh = x 22
B 38.00 4, 300. 00 163, 400
KEFE 1Hh = x 22
B 38.00 1, 900. 00 72,200
& Hi YEZERED - 1.00= 315, 400. 00 315, 400

11




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

BS54
¥ REAERMER HHY (1)
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
e (B)
A 1.00 48, 500. 00 48, 500
AR (C)
A 1.50 40, 300. 00 60, 450
EHERARE FHEEDY
% 1.00 265, 250. 00 2,652
& B 1YE%HeH - 1.00K 267,902. 00 267,902
&5 .2
£ RRBAERERE 1LY
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.50 59, 600. 00 89, 400
AR (C)
A 1.00 40, 300. 00 40, 300
EHERARE FHEEDY
% 1.00 196, 600. 00 1,966
& B 1E%HeH - 1.00K 198, 566. 00 198, 566

12




RIS TE T/ S —

SHTEEESBBREREARKE=-FIVIRAE

&5 :26
W MESEROKERAE (EZ2 Y VIHRE) EZ42UVYT 14y
2 b g - BIRTE By = B ® % W = " =
FEHRAR (F%ET)
A 0.60 66, 900. 00 40, 140
HEm (B)
A 6. 50 48, 500. 00 315, 250
g
A 12.00 36, 100. 00 433, 200
EHERARE FHEEDY
% 1.00 788, 590. 00 7,885
& Hi 1YE%HeH - 1.00K 796, 475. 00 796, 475
&5 :21
2% MESER(EERE) EBEHRE (1) 2) 14y
2 b g - BIRTE By = B ® % W E " =
F{EHRAR (F%ET)
A 0. 60 66, 900. 00 40, 140
HEm (B)
A 7. 40 48, 500. 00 358, 900
g
A 13. 80 36, 100. 00 498, 180
EHERARE FHEEDY
% 1.00 897, 220. 00 8,972
& Hi 1E%HeH - 1.00K 906, 192. 00 906, 192
&5 :28
£ MESER (EEDH) EBEHT 14y
2 b g - BIRTE By = B ® % W = " =
FEHRAR (F%ET)
A 1.30 66, 900. 00 86, 970
HEm (B)
A 1.00 48, 500. 00 48, 500
g
A 2.00 36, 100. 00 72,200
EHERARE FHEEDY
% 1.00 207, 670. 00 2,076
& Hi 1E%HeH - 1.00K 209, 746. 00 209, 746

13




RifigR- T/ Avr—> SHTEERSBEERES TSV TRE

&5 :29
B MESFER(ZOMAER) KEFEIR), EEEY, ANE 14y
2 b g - BIRTE By o = B ® W = " =
FEHRAR (F%ET)
A 4.00 66, 900. 00 267, 600
HEm (B)
A 13.00 48, 500. 00 630, 500
g
A 13.00 36, 100. 00 469, 300
EHERARE FHEEDY
% 1.00 1, 367, 400. 00 13,674
& B 1YE%HeH - 1.00K 1,381,074.00 1,381,074
&5 :30
¥ REERAEMT GEfZEAD HEER
2 b g - BIRTE By H = B ® W E " =
HEm (B)
A 1.00 48, 500. 00 48, 500
AR (C)
A 0.50 40, 300. 00 20, 150
g
A 0.50 36, 100. 00 18, 050
EHERARE FHEEDY
% 4.00 86, 700. 00 3, 468
& B 1E%RED - 1.00/B 90, 168. 00 90, 168
&5 : 31
2% MESER GEHEEAD 1xXEY ()
2 b g - BIRTE By H = B ® W = " =
FEHRAR (F%ET)
A 1.50 66, 900. 00 100, 350
HEm (B)
A 3.00 48, 500. 00 145, 500
g
A 3.00 36, 100. 00 108, 300
EHERARE FHEEDY
% 1.00 354, 150. 00 3, 541
& Hi 1E%HeH - 1.00K 357, 691. 00 357, 691

14




Rifiz -/ \v7r—o

FHTEEESBREREARE=FIVIRE

&5 .32
£ REEEM 1LY
2 b g - BIRTE By = BHO(f ® W = " =
ZEEEMm FRP D 180PS#Y
B 4.20 162, 495. 00 682,4796.00H / 8H
MR i 10)
% 0.50 682, 479. 00 3,412
& B 1YE%HeH - 1.00K 685, 891. 00 685, 891
&5 .33
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f ® W E " =
EBHRERERE
= 1.00 180, 000. 00 180, 000
& Hi 1E%HeH - 1.00K 180, 000. 00 180, 000
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